Suite Pastiche - No. 2
Gilles ARCENS

1- Flute 1

INSTRUMENTATION :S
1 - Flute 2

6 - Bb Clarinet 1
6 - Bb Clarinet 2

1 - Bass Clarinet - Trombone 2

4 - Alto Saxophone 1 & 2 @355 Trombone

4 - Tenor Saxophone - Bb Euphonium B.C.
1 - Baritone Saxophone Q\@ 1-CTuba

Pem@&s (3 players)
~—7 =

%— Timpani
1> ng/ Suspended Cymbal
& 1 - Snare Drum

Q Additional Parts

1 - Bb Baritone/Euphonium T.C.
1 - C Baritone/Euphonium T.C.
1 - C Euphonium B.C.
1-BbTuba

1-EbTuba

1 - Bass Saxophone

Duration: 2'35"

© Copyright 2009 by FLESS) EX070908
All rights reserved.

2/11

X authorized copiesfor Your Name
www.flexeditions.com

X authorized copies for Your Name - Transaction Date



3/11

Suite Pastiche - No. 2

for Wind Band

SCORE

Gilles ARCENS - 2009

Duration: 2'35"
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